0o

(_) 1turn =1 lbs = 0.4kg

S=5mm

NOTE: Turn clockwise to reduce
tension for lighter monitors and
counter-clockwise to increase
tension for heavier monitors.

VESA Swivel Adjustment

Tighten the bolt with the Allen Key to make the tilt and swivel adjustment.
Use a hex wrench to adjust the height tension of the gas spring arm, to keep
different weight of monitors still at any position.

Organize cables with cable management clips along the pole.

Losewill”

Technical Support Information techsupport@rosewill.com 1-800-575-9885
Please register your product at www.rosewill.com for complete warranty information
and support for your product. RMS-E53_A

=i

®
: RMS-E53
osewill | -
Thank you for purchasing a Rosewill Monitor Desk Mount.
Please read the instruction manual before use and retain for future reference.

~N
J/

e N\ A
.VESA'

(A 2\

4 2\ 4 2\
> DS
Ve Y
S @ l Rotate >
‘ N /)
. 7

L/

Installation




WARNING STATEMENTS

Warning

Prior to the installation of this product, the installation instruction must be read
and completely understood. Failure to do so may result in personal injury,
property damage or voiding of factory warranty.

Do not install on a structure that is prone to vibration, movement or chance of
impact. Reinforce the structure as required before installation.
Don't use the product on particle board.

The desk clamp can support a maximum thickness of 8 cm. Confirm the desk
edge before installation.

A
A
A
A

Pay attention to the weight capacity of the mount. Exceeding the limitation can
result in function unworkable or even serious personal injury and property damage.

A

Never operate the mount if parts are missing or damaged. Contact your local
service center for warranty service.

PRODUCT LINE GRAPH

Max.1686/66.4" ‘

mm/inch

-

Desktop,

Lift the spring arm along with the monitor and put it on the supporting part.

N

(-

Desktop,

Insert plastic cover into monitor arms and extensions.



TOOLS REQUIRED NOT INCLUDED

S

PARTS INCLUDED

(1)

J

Flush surface installation: Install 4 screws through faceplate to monitor via mounting a
holes.

) (x1)
M4x30
@ b (x1) e (x1) f
12X5.8X16 ammﬂ@ fﬂnzmummm@
A M4x12 (x12)  M4x30 (x12)
12X5.8X16 (x12)
_ =y
B M6x8 (x2)
) ] ]
L S$=3mm (x1) S=4mm (x1) S=5mm (x1))
c (x2) @ (x6)
J D @@ x2)

Recessed surface installation: Put 4 spacers between faceplate and monitor. Install 4
screws through faceplate, spacers to monitor via mounting holes.

— 05 — — 02 —



o Clamp Installation

S=4mm
Desktop
B
Max: 60mm
- (Max: 2.36") )
Measure the thickness
M6x8
@ = of desktop. =
= Desktop
=2
|
— —)
%;fsé;‘ Desktop = Desktop
< &)
ia 1 '

Adjust locating ring at proper height and screw up tight to hold the mount.
Adjust aluminum support part above the locating ring and use a hex key to fix it.

S=3mm

S=3mm

.

Insert extension arms to the supporting part.




